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0201 *™
Paper No. I Medium : Urdu Time: 1:00pm to 2:30pm
kPages : 32 First Language and Mathematics  10tal Marks : 15&

Read the following instructions carefully before you answer the questions.
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This question paper contains two sections. In Section I there are 1 to 25 questions of First Language and
in Section Il there are 26 to 75 questions of Mathematics. All 75 questions are compulsory.

All questions carry 2 marks each.

Time limit to solve the question paper is 90 minutes.

Separate answer sheet is given to record the answers. Each question has been given four
alternatives. Read them carefully. Select the correct answer and shade the correct answer in the answer
sheet.

Example :- If the correct alternative for Q. No. 6 is 2, then record your answer as follows :

Question No. 6 Oe®

Answer recorded in any other form will not be considered. Such answer will be credited with ‘Zero’ mark.

Example : (1) @ ®®

Use blue or black ball pen to darken the circle. Pencil is not allowed. Circles darkened by pencil will not
be credited.

Once you have darkened the circle as correct alternative you cannot change it.

If more than one circles are darkened or overwriting is done, the answer will not be accepted.
The rough work is to be done in the space given under each page or on the last page of the question paper.
If you do not know the answer to any question, do not spend much time on it and pass on to the next one.
If the time permits you can come back to the question which you have left in the first instance and try them
again.

If you find any question incomplete or with error, then do not ask anything to the Supervisor or Centre
Incharge.

For any error/mistake/objection issues, school or parents should not send written application to Block
Education Officer or Education Officer. These error/mistake/objection issues should be
register online through respective school login only.

The error/mistake/objection issues should be register online within 10-days from the publication of Interim
answer key on MSCE website.

Questions can be cancelled due to printing mistake or any other reason, on the basis of the
suggestions given by the Committee of Experts.

Along with the question paper of the respective medium, the English version of question paper is also
provided. In case of doubt please refer to the English version of the same question.
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27.

28.

~ection 11

Mathematics

Which number will occur consecutively after five crores nine lakhs seventy seven thou-
sand five hundred and ninety nine ?

(1) 5,09,77,600 (2) 5,09,77,599

(3) 59,77,600 (4) 5,97,70,700

Between which two decimal fractions does 0.561 lie ?
(1) 0.5and 0.56 (2) 0.50and 0.60

(3) 0.562 and 0.57 (4) 0.56 and 0.57

A triangle has 3 vertices. If a rectangle is formed joining 2 triangles, how many verti-
ces will it have ?

(1) 6 (2) 4
(3) 2 (4) 1
Space for Rough Work
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30.

31.

32,

For Annual General Meeting of Utkarsh Co-operative Society out of 2240 members
35% women share holders were present. If 100% share holders were present, then

how many men share holders attended the annual general meeting of the society ?

(1) 1456 (2) 786

(3) 1356 (4) 1256

How many times is the greatest divisor of 52 is that of smallest divisor ?

(1) 26 (2) 13

(3) 4 (4) 52

How many notes of Rs. 10 can one get if one gives 30 coins of Rs. 5 ?

(1) 3 2) 6

(3) 15 (4) 20

Form the greatest six digit odd number and smallest six digit even number using the

digits from 1 to 9 only once. What will be the sum of these numbers ?

(1) 1001110 (2) 1111101
(3) 1110110 (4) 1111100
Space for Rough Work
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34.

35.

36.

Onkar passed an exam scoring 510 marks. If he has 68% marks then for how many
marks was the exam conducted ?

(1) 510 (2) 680
(3) 750 (4) 800

3
What is the difference between the greatest and the smallest fraction if %, %, %, 7 are

arranged in descending order ?

W @ 2

3 2 ) 1

If a number is multiplied by 8 instead of 5, the product increases by 39, then what is the
number ?

(1) 14 (2) 12

(3) 13 (4) 15

A paper is folded according to the figure and a cubical box is made. Which letter will
be there opposite to the surface with the letter “R” ?

R
U|P|A

(1) L (2) A
(3) 1 (4) U

Space for Rough Work
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37

38.

39.

40.

41.

Which of the following expressions is wrong ?
(1) 7x8+4=14 (2) 27+3x3=9
3) 18—13+5=10 (4) 16 +5-12=9

Joseph bought half a dozen pencils at the rate of Rs. 3.50 per piece and 2 pens at the rate
of Rs. 12.50 per pen. If he gives Rs. 50 to the shopkeeper, how much money will he get
back ?

(1) Rs. 46 (2) Rs. 34
(3) Rs.4 (4) Rs. 25

Rutuja gave Pranav Rs. 2500 on simple interest for 6 months at the rate of 8% p.a. How
much interest will Pranav pay to Rutuja for 6 months ?

(1) Rs. 100 (2) Rs. 500
(3) Rs. 200 (4) Rs. 600

What is the difference between the sum of the place value of the digits in thousands and
tens place in the number 26586 and the sum of place value of digits in the hundreds and
tens place ?

(1) 5920 (2) 5500
(3) 6660 (4) 6080

Magansheth sold 52 litres of milk for Rs. 2184 and earned a profit of Rs. 364. Find the
cost price of milk per litre.

(1) Rs. 1820 per litre (2) Rs. 45 per litre
(3) Rs. 42 per litre (4) Rs. 35 per litre
Space for Rough Work
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43.

44.

45.

46.

The length and breadth of a rectangular room is 4 m and 3 m respectively. If this

class room is to be tiled with square tiles whose side is 40 cm, how many tiles will be

required ?
(1) 50 (2) 100
(3) 75 (4) 400

30 m long rope is cut at S places. What will be the length of 2 pieces ?
(1) 6m (2) 10m
(3) Sm (4) 18 m

What will be the sum of the first and third number if the numbers 32321, 32312, 32231,

32123 are arranged in descending order ?
(1) 64435 (2) 64444

(3) 64552 (4) 64543

When a shirt is sold at Rs. 400, the profit earned is % times the selling price. What is

the cost price of the shirt ?
(1) Rs. 150 (2) Rs. 550

(3) Rs. 250 (4) Rs. 350

1
Everyday, Roshni buys T litre of milk. What will be her bill amount for the month of

August if the rate is Rs. 50 per litre ?

(1) Rs. 375 (2) Rs. 3875.0
(3) Rs. 375.50 (4) Rs. 387.50
Space for Rough Work
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47.

48.

49.

50.

Complete the sequence observing the pattern. Choose the correct option.

O+ .+ %[ *x [+ ....2.....
(D) O+ % 2) + %
3) [ % + 4) % +[]

Pradnya had 5 dozen copies. She gave half of the copies to Anushka and -;- times of the
copies to Prajwal. How many copies are remaining with her ?

(1) 60 (2) 12

(3) 18 4) 30

Shrikant bought a watch at Rs. 900. He gave equal number of notes of denomination Rs.
10, Rs. 20, Rs. 50 and Rs. 100. Find the number of notes of Rs. 20 that he gave to the
shopkeeper.

(1) 20 (2) 4
(3) 5 4) 10

Mangalakaku purchased 6016 saplings of lemon. She planted 47 saplings in each row.

How many rows will be formed of those saplings ?

(1) 128 (2) 118
(3) 108 (4) 228
Space for Rough Work
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S1.

52.

23,

54.

55.

480 cm = ? Decameter.

(1) 4.8 (2) 0.48

(3) 48 (4) 0.048

Sth January is Tuesday. Which day of that month will not occur 5 times ?
(1) Friday (2) Saturday

(3) Sunday (4) Monday

The length and breadth of a rectangle is 12 cm and 8 cm respectively. What will be the

area of square whose perimeter is equal to the perimeter of the given rectangle ?
(1) 24 sq. cm (2) 40sqg.cm
(3) 100 sqg. cm (4) 96sq.cm

Which numbers will occur in place of [JA?

g8 % 2 AL

- % 502 3

4 s 04
(1) 3,79 (2) 9,7.3
(3) 7,9,3 (4) 9,3,7

What will be the rate of interest if Rs. 5000 fetch Rs. 1350 as simple interest after 3

years ?

(1) Sp.cp.a. (2) 8p.cpa.
(3) 9p.cp.a. (4) 7p.cp.a.
Space for Rough Work
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56.

ST,

58.

9.

Write the roman numerals L, X, V, D, C, M in descending order.
(1) .X,C,D,L.M 2) V,X,L,C,D,M
3) C,D,L,M,V, X (4) M,D,C.L. X,V

Out of 1 ream paper 5 quires were used for printing and 36 papers were wasted during

printing. How many papers will remain ?
(1) 324 papers (2) 360 papers
(3) 320 papers (4) 28 dozen

Gauri, Hamida, Mary and Ishwari are friends. They are standing in a circular manner.
They can shake hands with each other only once. How many times will the hand be

shaken ?

(1) 3 (2) 4

(3) 5 (4) 6

Find the incorrect statement from the given alternatives.

(1) When any number is divided by 1, quotient is the same number.
(2) When any number is divided by itself, quotient is zero.

(3) When any number is divided by itself, quotient is 1.

(4) Whenremainder is added to the product of divisor and quotient, one gets dividend.

Space for Rough Work
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60.

61.

62.

Which of the following alternatives indicate the equivalent fraction to the shaded

portion in the figure ?

>

33 3
(m = @ 2

45 60
3 22 @ =

Central Government granted aid Rs. 15,08,980 towards the provision of Science
Laboratory per school. How much aid will be required for 168 schools in Maharashtra ?

(1) Rs. 2,41,43,680 (2) Rs. 25,35,08,640
(3) Rs. 2,71,61,640 (4) Rs. 10,26,10,640

Nilesh came to school at 7.30 in the morning. After 330 minutes in school, he started
for home. At what time did he start moving home ?

(1) 11.30 a.m. (2) 10.30 a.m.
(3) 1 o'clock (4) 11 o'clock
Space for Rough Work
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65.

66.

67.

68.

Chaitali was born on Wednesday 3rd August 2000. What will be the day on her tenth
birthday ?

(1) Sunday (2) Monday
(3) Tuesday (4) Saturday

Under Polio Eradication Campaign 2012, in Nagpur district 3,17,528 children were
vaccinated and in Amravati district 2,04,537 children were vaccinated. How many chil-
dren were vaccinated in all ?

(1) 522,605 (2) 5,22.607
(3) 5,22,065 (4) 5,22,705

“Two and a quarter thousand” students study in Gurusmruti Vidhyalaya. Express this
number in International numerals.

(1) 22250 (2) RRYo
(3) W]Wo (4) 2250
12% of 1250 = ?

(1) 1500 (2) 144
(3) 150 (4) 200

Swara purchased a fridge at Rs. 15,980 and a T.V. set at Rs. 20,740. She gave 19 notes of
Rs. 2000 to the shopkeeper. How many Rs. 10 notes will the shopkeeper return her ?

(1) 1280 (2) 228
(3) 2280 (4) 128

Nanasaheb purchased an ox for Rs. 32,000 and he had to spend Rs. 1500 on transporta-
tion to take it home. After 3 months he sold it at Rs. 35,300. How much profit did he
earn in this transaction ?

(1) Rs. 3300 (2) Rs. 1800
(3) Rs. 3000 (4) Rs. 1500
Space for Rough Work
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72.

312 5 706

344

1009 2018

1362
(1) 2018

2018
(3) 2009

=9
1009

1362
(2) 4036

2018
) 2018

5 thousand + 3 tens + 7 tenth + 8 hundredth = ?

(1) 530.078

(3) 53.78

(2) 530.78

(4) 503.078

What is the sum of the smallest six digit odd number and the greatest six digit even

number ?
(1) 109999

(3) 999999

(2) 1099999

(4) 99999

A car covers Nagpur - Amravati 150 km distance in 3 hrs and 15 min. How much time

will it require to cover a distance of 250 km of Nagpur-Akola with the same speed ?

(1) 2 hrs. 15 min
(2) 3 hrs. 25 min
(3) 5 hrs. 25 min

(4) 4 hrs. 15 min
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73. Find the area of the shaded portion of the square whose side is 20 cm.

\ (1) 400 sq. cm. (2) 100 cm.

(3) 200 sq. cm. (4) 150 sq. cm.

Q. 74 & 75. Answer the following questions using the pictorial information.

74.

T

Subject liked by students | No. of Students
Maths ©OOO
Marathi ©O©O
Science ©©
Drawing ©OOO

Scale : 1 © =6 students

What is the number of students about whom the information is given in pictorial

diagram ?
(1) 13 (2) 68
(3) 76 (4) 78

By how much is the number of students liking Maths is more than that of the number of
students liking science ?

(1) 2 (2) 12
(3) 24 (4) 8
Space for Rough Work
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